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QUESTION 1

What describes a true limitation of Logistic Regression method?
A. It does not handle missing values well.

B. It does not handle redundant variables well.

C. It does not handle correlated variables well.

D. It does not have explanatory values.

Correct Answer: A

QUESTION 2

In which phase of the analytic lifecycle would you expect to spend most of the project time?
A. Discovery

B. Data preparation

C. Communicate Results

D. Operationalize

Correct Answer: C

QUESTION 3

Refer to the exhibit Consider the training data set shown in the exhibit. What are the classification (Y =0 or

1) and the probability of the classification for the tupleX(0, 0, 1) using Naive Bayesian classifier?
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A. Classification Y = 1,Probability = 4/54
B. Classification Y = 0,Probability = 1/54
C. Classification Y = 1,Probability = 1/54
D. Classification Y = 0,Probability = 4/54

Correct Answer: A

QUESTION 4

In MADIib what does MAD stand for?

A. Magnetic,Agile,Deep

B. Machine Learning,Algorithms for Databases
C. Mathematical Algorithms for Databases

D. Modular,Accurate,Dependable

Correct Answer: C
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QUESTION 5

When creating a project sponsor presentation, what is the main objective?
A. Show that you met the project goals

B. Show how you met the project goals

C. Show how well the model will meet the SLA (service level agreement)
D. Clearly describe the methods and techniques used

Correct Answer: A
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